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Q.1 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Itis also very sad that ill-treatment is meted out to one of your gifts, and everyone
indulges in excess!”

B. “I can't take it anymore,” he complained. “People abuse me and exploit me, and there is
no respect for me — no realisation that | am your prasadam to men!

C. An ancient story tells us that the God of Food came before the Divine Presence, battered,
exhausted, and downcast.

D. The Lord smiled and said to him, “Those who abuse you and indulge in excess are
destroying themselves.”

Ans o 1 CBAD
< 2.BADC
2< 3.ACDB

< 4.CABD

Question ID : 424429517
Status : Answered
Chosen Option : 1

Q.2 Select the INCORRECTLY spelt word.
Ans & 1 Separate

?< 2. Marriage
J 3. Intriging

?< 4, Symphony

Question ID : 424429525
Status : Answered
Chosen Option: 1

Q.3 Select the correct passive form of the given sentence.

| use baking soda to remove stains from my clothes.

Ans x 1. Baking soda was used by me to remove stains from my clothes.

( 2. Baking soda is used by me to remove stains from my clothes.
x 3. I have been using baking soda to remove stains from my clothes.

x 4. Baking soda is being used by me to remove stains from my clothes.

Question ID : 424429506
Status : Answered
Chosen Option: 2




Q.4

Ans

Select the correct indirect form of the given sentence.

Aanya said, "I've made a rose and honey vanilla dessert for you."

x 1. Aanya told me that she would make a rose and honey vanilla dessert for her.
x 2. Aanya told me that she is making a rose and honey vanilla dessert for me.
« 3. Aanya told me that she had made a rose and honey vanilla dessert for me.

x 4. Aanya said to me that she was making a rose and honey vanilla dessert for me.

Question ID : 424429507
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One fireman died while 14 others had a narrow escape when a part of the factory-cum-outlet
of a well-known battery (1) firm where they were battling a major (2) collapsed
following a series of sudden explosions in west Delhi. The brave fireman who had joined the
department last year and got married (3) , was buried under a pile of debris following
explosions which were (4) by a compressor burst. The fireman died due to (5)
bleeding and smoke inhalation. It took firemen five hours to pull his body out of the debris.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank number 1.
Ans x 1. manufactures
x 2. manufactured
x 3. manufacturable
J 4. manufacturing
Question ID : 424429511
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One fireman died while 14 others had a narrow escape when a part of the factory-cum-outlet
of a well-known battery (1) firm where they were battling a major (2) collapsed
following a series of sudden explosions in west Delhi. The brave fireman who had joined the
department last year and got married (3) , was buried under a pile of debris following
explosions which were (4) by a compressor burst. The fireman died due to (5)
bleeding and smoke inhalation. It took firemen five hours to pull his body out of the debris.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank number 2.
Ans x 1. trouble
’ 2. blaze
x 3. ruin
x 4. fracture
Question ID : 424429512
Status : Answered




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One fireman died while 14 others had a narrow escape when a part of the factory-cum-outlet
of a well-known battery (1) firm where they were battling a major (2) collapsed
following a series of sudden explosions in west Delhi. The brave fireman who had joined the
department last year and got married (3) , was buried under a pile of debris following
explosions which were (4) by a compressor burst. The fireman died due to (5)

bleeding and smoke inhalation. It took firemen five hours to pull his body out of the debris.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.
Ans x 1. generously
x 2. eventually
x 3. evidently
, 4. recently
Question ID : 424429513
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One fireman died while 14 others had a narrow escape when a part of the factory-cum-outlet
of a well-known battery (1) firm where they were battling a major (2) collapsed
following a series of sudden explosions in west Delhi. The brave fireman who had joined the
department last year and got married (3) , was buried under a pile of debris following
explosions which were (4) by a compressor burst. The fireman died due to (5)
bleeding and smoke inhalation. It took firemen five hours to pull his body out of the debris.
SubQuestion No : 8
Q.8 Select the most appropriate option for blank number 4.
Ans

J 1. triggered

x 2. advocated

x 3. amazed
x 4. horrified

Question ID : 424429514
Status : Answered
Chosen Option : 4




Q.9

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One fireman died while 14 others had a narrow escape when a part of the factory-cum-outlet of a well-
known battery (1) firm where they were battling a major (2) collapsed following a series of
sudden explosions in west Delhi. The brave fireman who had joined the department last year and got
married (3) was buried under a pile of debris following explosions which were (4) by a
compressor burst. The fireman died due to (5) bleeding and smoke inhalation. It took firemen five
hours to pull his body out of the debris.

SubQuestion No : 9

Select the most appropriate option for blank number 5.

x 1. lavish

2. towering

3. excessive

X § X

4. exorbitant

Question ID : 424429515
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate ANTONYM of the given word.

Ans

PROVOKE
x 1. Stimulate

J 2. Appease

x 3. Encourage

x 4. Beckon

Question ID : 424429521
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate word to fill in the blank.

Ans

| found the scene of some people making fun of a beggar quite
1. admirable
2. sociable

3. destructive

L X X X

4. repulsive

Question ID : 424429531
Status : Marked For Review
Chosen Option : 4




Q.12 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is

no need to substitute it, select ‘No improvement’.

Doctors at the AlIMS Trauma Centre managed to save the life of 12 year old archer Shivangini, whose

were struck by an arrow in the neck during a practice session.
Ans x 1. which was struck
2. who was struck

v
x 3. who was striked
X

4. No improvement

Question ID : 424429519
Status : Answered
Chosen Option : 2
Q.13 In the given sentence, identify the segment which contains the grammatical error.
A panel has been formed to look within the security needs of college students.
X 1. has been formed
x 2. the security needs
J 3. to look within
x 4. of college students
Question ID : 424429509
Status : Answered
Chosen Option : 3
Ans
Q.14 Select the most appropriate meaning of the given idiom.
Add insult to injury
Ans x 1. Play a prank on someone
x 2. Say words that are very offensive
J 3. Make a bad situation even worse
x 4. Hurt someone physically
Question ID : 424429522
Status : Marked For Review
Chosen Option : 3
Q.15 Select the INCORRECTLY spelt word.
Ans Jl. Grammer
x 2. Permanent
X 3. Allegation
x 4. Disapprove
Question ID : 424429524
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate word to fill in the blank.

The scientist, who is known for his ideas on space travel, is much admired.

Ans , 1. revolutionary

x 2. anarchist
x 3. malicious
x 4. ridiculous

Question ID : 424429530
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate synonym of the given word.

PERSECUTION
Ans x 1. Perfection

x 2. Stimulation

x 3. Affliction

J 4. Oppression

Question ID : 424429529
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate meaning of the given idiom.

Jump on the bandwagon

Ans x 1. Get engaged in an activity that is very important
x 2. Do something because circumstances force you to
J 3. Get involved in an activity because it is likely to succeed

x 4. Do an activity that is fun

Question ID : 424429523
Status : Marked For Review
Chosen Option : 2

A. When we wish to achieve something, we cannot expect success in a moment.
B. It is the same with any great achievement.

C. It took several years to build Rome and bring it to the state of glory.

D. Rome, the greatest city of ancient world was not built in a short time.

Ans X 1.BACD

X 2.cpAB
X 3.ABCD
o 4. pcea

Q.19 Given below are four jumbled sentences. Pick the option that gives their correct order.

Question ID : 424429516
Status : Answered
Chosen Option : 4




Q.20 Select the word which means the same as the group of words given.

Movement of people or animals from one area to another
Ans J 1. Migration
2. Acclimatisation

3. Diversification

X X X

4. Population
Question ID : 424429526

Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate ANTONYM of the given word.

DISAPPROVE
Ans 1. Oppose

2. Commend

3. Refuse

X X & X

4. Neglect

Question ID : 424429520
Status : Answered
Chosen Option : 2

Q.22 In the given sentence, identify the segment which contains the grammatical error.

The performance of our players is worst than | had expected.

X 1.1had

x 2. The performance

X 3. our players

J 4. worst than

Question ID : 424429508
Status : Answered
Chosen Option : 4

Ans

Q.23 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No improvement’.

She is quite capable of looking after herself, aren't she?

Ans 1. won't she
2.isn't she

3. No improvement

X X € X

4. wasn't she

Question ID : 424429518
Status : Answered
Chosen Option : 2




Q.24 Select the word which means the same as the group of words given.

One who tells future from the stars
Ans x 1. Miser

x 2. Personification

J 3. Astrologer

x 4. Philanthropist

Question ID : 424429527
Status : Answered
Chosen Option : 3
Q.25 Select the most appropriate synonym of the given word.
PREJUDICE
Ans x 1. Advantage
x 2. Justice
J 3. Bias
x 4. Tolerance
Question ID : 424429528
Status : Answered
Chosen Option : 3
Section : General Intelligence
Al 53 Rwey &1 907 Y, w9 o ¥ IO T R, S 9EH g FogEY o F A
s el oo ? 0 Fear
Ans
X1
v aES
X 3 g3
X 4 gataag (Lynx)
Question ID : 424429543
Status : Answered
Chosen Option : 2




W 37 gl # GO FL, S A TE FA AT F X FH T I

b MAVAN AR

v

Ans

Question ID : 424429551
Status : Answered
Chosen Option : 1

Q3 e fARea %e s &, SITUATION & 133 AR RIGHT T 67 forar e &1 38 smor &
CONSTITUTION & & foram sfeem?

Ans o 1184
X 2132
X3 167
X179

Question ID : 424429541
Status : Answered
Chosen Option : 1

Q.4 forar 1 aRmw Fe T IR F FaT, A A H gy 98, T A H I 871 R F Rww F

Ans X 1 =TT
X2 7t
v T

X 4 Rar

Question ID : 424429545
Status : Answered
Chosen Option : 3




Q5 Sl wde # Tt = F B, &5 @ feat # smw § ager e aRe?
6+7x8-21+7=47

e i x
X2 = 3F x
X3+ 3 -
X4 = 3 -

Question ID : 424429533
Status : Answered
Chosen Option : 1

Q6 v & o i TR arenET-sneT RufyEt Rad o ¥ 3@ TE & 999 #Y, S GEA 5 aer Boldk &
rafig werer 9T g7

POEP
s
v: 4
X2

Question ID : 424429550
Status : Answered
Chosen Option : 3

Q7 37 fameT & TG FY, S AN TEA ¥ 3 THER TS o IR g@d vEw wer w'mw ¥
wEfoa @
10621010 = & 11702

Ans of 11342
X 21320
X 3132
X 2 131

Question ID : 424429535
Status : Answered
Chosen Option : 1




e fFTe &1 g # wfesral F FE Wl B FEw § J I g1 ealoiia # @ sl @ wer
8 g # wal R wfesl F T TEAT F WE R0 AT 82

Q.

o X 42,
v 60,
X 50,
X 39,

Question ID : 424429532
Status : Answered

Chosen Option : 2

Q9 R & 3@ GASA F TIA HY, S 3R F & T wER-gEen F Nad W R FAF 77 F W
S 9 S@er I8 @ Seen|

a_ _ccde bc eaabc_ __ _aabc_ _ee

X 1 acbdecdeaacecd
X 2 abcdecdeecdeaa
v abeaacdecdeecd
X 4 abbaacdeecdecd

Ans

Question ID : 424429544

Not Attempted and

Status : Marked For Review

Chosen Option : --

37 39 NG F TTT F, I BT A0 Fot F T F G Fr FacdH &1 ¥ 2T B
Q.10 % mﬁ

X L

X2 @Q
X3 <::>
OQ

Ans

Question ID : 424429556
Status : Answered
Chosen Option : 4




Q11 et ffRaa g s &, 'LIFE' ® 'MOGI' forar smar &1 38 ssm & 'SOUP' @t & foram seem?

m ¥ TUAQ,

X TUuvO,
X TUOQ,
X TATU,

Question ID : 424429540
Status : Answered

Chosen Option : 2

TN ER-Tg Rr av E S @ O Gl 7 Rl ae @ weg § 3R vw e #1 3W e ann-
Q.12 T T T

. X OMANI,

X AMANA,
v EVOLV,
X UGALI,

Question ID : 424429547
Status : Not Answered
Chosen Option : --

Q13 =g fyeq # 9T Y, Forgw AW 98 ¥ T Y Y, S g@ 9g F 9@ 9T F E
JUST : IWPX : : AWAY : ?

Ans xl' AAYW
v 2 ZYXC
X 3 WYAA
X & AYWC

Question ID : 424429542
Status : Answered
Chosen Option : 2

Frafaf@a ol & na-REa(?) F T W S Je & FoTaT F
1e 8 11, 15, 23, 40, 73, 2

w X 122
X 93,
v 131,
X 113,

Question ID : 424429537
Status : Not Answered
Chosen Option : --




3T AE-TIA F TGA F, N @ el F IH H a@ Ty g, S A R v eeg-gem ¥ el F
= g

qis ¥ F

X1 e WS

K 2 37e : AT

v o AT . WHE

X 4 9T TSer

Ans

Question ID : 424429546
Status : Answered
Chosen Option : 4

Q16 37 e &1 wT= F, S T=aw # FEmat & 99 RER 9@ @9y §, S AT R v age
#r et F = F

(2, 41, 7)

ans f 1 (4, 57, 11)
X 2 (6, 36, 9)
X (9, 92, 11)
X4 (8, 81, 11)

Question ID : 424429536
Status : Answered
Chosen Option : 1

IR e BT v §, ad ¥ O el 7 el ave ¥ @9 a € 3R o e B 39 eI g @
Q_17m3'7i'|

X 1 =g (Cod)

v 2 3eEex (Oyster)
X 3 emF (Shark)

X 4 GIAA (Salmon)

Ans

Question ID : 424429548
Status : Answered
Chosen Option : 3




%@mmﬁaﬁtﬁwaﬁmﬁﬁ|ﬁmﬁg@%mﬁaﬂémmtmé’rﬁ
HH dlt W Ela azat @ B oot &, 9 AT & i ard Ty ghaea & ¥ 5T Fuar #v
FTEOT FAT § / F E

HYel:
l. F& IFaF, A &I
I wshr A, ST #)
o=
I @ gEas, R E
I Fo greh, Tt
Il F& A, T+ E
Iv, @ ST, gEh E

X o Faer fswd I, 11l AR IV 3w w7 E
v 2 e sy 1l 3R 111 segEer R g

X > Faer sy | 3R IV gEor = 2
X+ Faer wY | 3FTEOT HLaT g

Q.18

Ans

Question ID : 424429549
Status : Answered
Chosen Option : 2

O & ¢ gty F Rreaw e 2

Ans x 1. 25
X227
v 38
X420

Question ID : 424429552
Status : Answered
Chosen Option : 2




IR FEAY & oS § S ¥ O R 7 B Re @ woa ¥ 3k e e #1 3w e
HEAT FT FITT FI

Q.20

as 8 529,
X 9,
X 49,

v 8,

Question ID : 424429538
Status : Answered

Chosen Option : 4

2 Srafaf@a Ao F qeT-REA(?) F T W A T TEAT FT9T FL
8,17, 9, 19, 10, 21, 2, ?
s X111, 24
X210, 23
v 11, 23
X4+11, 22

Question ID : 424429534
Status : Answered
Chosen Option : 3

30 TEr e @ T W, S el et # v aifde 3R 3t e § cvafeua wxar g

1.g%:fr
2.F
3. 378
4.3

S.gE?lT

X3,
X 25,
v 3,
X3,

Q.22

-

- N & o
N = 0
—

Ans

—
NN

-
-
-

-
-
-

Question ID : 424429539
Status : Answered
Chosen Option : 3




Q23 oy & o1 et F FS F TF gHS F ASS F FH AR FeS H By # fmrar @ ) ow
FETS e W Har ars e

Ans

N

/

Question ID : 424429554
Status : Answered
Chosen Option : 3




Q24 57 Rwpew @1 TT= FY, B & T RA-HGT AHaeTea 1 (A F At TE Y

NN

Ans

&
@
M

X a

Question ID : 424429553
Status : Answered
Chosen Option : 1

Q25 & o1 mpfay ¥ T SRR F TS L 9 UUT B NFA F @ IR @ T

X L

Ans

Question ID : 424429555
Status : Answered
Chosen Option : 4




Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q.1

& 7§ P H TEW 93 T F AT F FEY OIC T F ATBA Y IHJAA FA 872
Ans 1251

X242:1

X3 3:1

Va4l

Question ID : 424429566
Status : Not Answered
Chosen Option : --

P g x+y=14 3 +y3=1064 & A (x—y)?F AT AT HIST
Ans o136

X 2 81

X 3 64

< 4100

Question ID : 424429570

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q3 & o agfy &, g F ShaEmet AD 3k BC & wae: E 3R F a% serar e 3

af& £CDE = 85°%2DCF = 94° §, a £ABF + £EAB &T ATl A ST
Ans  of 1. 179°

X 2. 194°

X 3 168°

X 4 182°

Question ID : 424429567
Status : Answered
Chosen Option : 1




Q4 ABCDE v wa Sosjs #1 SWET (o3t F agmm Sar § S 5 ampfa #F g mw E

£ABC+2/£EGD+34BA
LABCH2-REDASLBA. e e T Ao

ans X 1. 750

Question ID : 424429569
Status : Not Answered
Chosen Option : --

Q5 wk T 126 kmh & T ¥ BT P 3R Q & @9 f g 97 w1 2, F9f Roda feer &
TE 90 km/h Fr =Tl F sl &1 SEY &, Tge &7 H T T W FAS g T = &
525 km & g a9 A & v gEd ¢ g o amn waw A Hifvw

e X115 g 20 BaE
X2 4 ge
v:5ge
X4 4 ge 20 Aee

Question ID : 424429558
Status : Answered
Chosen Option : 3

Q6 gy ATz S0 008 _ ) iy gy & R A T PRI # ¥ FT WA SUgE @

Cosec62°Tan11®

Ans Tan28°Tan79°
X L
Tan38°
Tan28°Tan38°
 Tan79°
Tan38°
Tan79°Tan28°
N Tan38°Tan79°
Tan28°

V>

Question ID : 424429576
Status : Not Answered
Chosen Option : --




Q7 gfy 8-3F WEA 1a765b12, 72 ¥ =T &, & (2a + 3b) N FYAGH A g
Ans o 111

X209

X312

X410

Question ID : 424429573

Not Attempted and

Status : Marked For Review

Chosen Option : --

¥ fr Tan*x —Tan?x= 1%, @ Sin*x + Sin®x & AT AT =T

Ans J 1. 1
X 2

X 3

X4.

RO TS R e S S

Question ID : 424429577
Status : Answered
Chosen Option : 1

Q.9 18,144 F &7 cwFaAt A, B 3R C & 3 : 5 : 8 ¥ I & Renfed T W B F I oA A
& gae # fhae d#fow gei?

Ans o1 32,268
X 2 32,464
X 3 32,386
X4 32,178

Question ID : 424429564
Status : Answered
Chosen Option : 1




17 FHAETT HEAT3HT &7 AT 289 F1 3 10 3T FHAET HEATHT &7 AT F47 219m, SaAhr
TES HEAT UgS WH=IT F FACE WA F dea & 5 wfvew g

Q.10

ae 8 285
v 265,
X 300,
X 315,

Question ID : 424429560
Status : Not Answered

Chosen Option : --

wﬁ#mmﬁmzswﬁﬁﬁ@mm%lmg’rga:tﬁa?a:rso%ﬁmgwluﬁ
Q.11 T & 48 Tw welt @ fw fha, @ deY # well F e AT e

ae #3000,
v 2000,
X 2400,
X 1200,

Question ID : 424429562
Status : Not Answered
Chosen Option : --

Q12 afx A 3 B =g 0T § 3R Secd = 3;CotB = 4 §, d SECAE o e e B
Ans xl_ 25
261
X22
X 3. i
261
322

of o =
323

Question ID : 424429575
Status : Not Answered
Chosen Option : --




A @ T X A AN IEET-IAT FAAr A, B, C 3HR D @R UF G F IcEH & HiFS! #
(B9 ==t #) g &

®A ®8 mC 8D
]

o
2

$ i
2 i
o 8 Ry 8 -
am & 84
mﬂ! 2 &R ol ®
]
2014 2015 2016 2017 2018

T v o ot #, sifag 3caea FAEw: HUA F gew 30 ¢ 3t Fuer A gew A
Q13 ¢!

X1.A B
v2D; A
X3C; A
Xa4B; C

Ans

Question ID : 424429581
Status : Answered
Chosen Option : 2

Qs afe 24% & v BT, 20% AR 1% F & FEF gEl & W g, A « 7 AT 7 A0

X 8%,
v 5%,
X 6%,
X 4%,

Ans

Question ID : 424429561
Status : Answered
Chosen Option : 2




@ T 71w 9R 1% & sfeafa fawet & femf@at A, B, C, D, E 3R F & g (100 # @) gafw
T F

mMaths ® Economics @ Commerce # Civics

3FT AEEN F HER, B vy F Faa 2 Rt & s @ 3w 3w g e E

Q.15
e 1 ARG ATET (Civics)

X 2 giftt=T (Commerce)

v 2 3reET (Economics)

X 4 aifora (Maths)

Question ID : 424429579
Status : Not Answered
Chosen Option : --

Q.16

Ans

& w§ gl &, afy AD = 3, DE = 4, AB = 12, BF = 2, FG = 6, BC = 10 &, & &
T AT AT HIAT)
(F1 & M =gt FGDE & &19% ¢ 3R N fis ABC & &i9wha g1)

A




Question ID : 424429568
Status : Not Answered
Chosen Option : --




3a+3x4a+6x25a+1 4

278-1xga~2x15a+4 1526

g I Va+9 F AT AT AT

Q.17

ws ¥ 5,
X 8,
X 4,
X 6,

Question ID : 424429571
Status : Not Answered

Chosen Option : --

aﬁ-:27aﬁwua:ﬁ:r#8d%’maﬂﬁ§tr12ﬁﬁﬁ@maﬂwmmﬁ,m18mmﬁw
leﬁsﬁtmaﬂ#mmaﬂﬁmﬁﬁ?ﬁﬁwaﬁm

v 16 &=

Ans
X215 &
X320 fea
X+18 fe=
Question ID : 424429557
Status : Answered
Chosen Option : 1
Q.19

T 1T o$ = # v frafaeaem & 9eTHA A, B, C, D 3R E ¥ Rw aAAifea oEr & gfaed Ans

&@ATT T § AR Ao F Fo Aifea ol # ¥ Sedivr @ A o 1 gfaud g @ gl

% STUDENTS ENROLLED Courses

% passed
out

mC mD mE

HA mB

76

82

80

90

75

afy o & For wEAT 60000 ¥, A WEAFA A, C F Zciol 7 g el HoF o B HEA A Hferw]

X 1 7852
X 2 7628
v 3 4992
X 4 8254




Question ID : 424429580
Status : Not Answered
Chosen Option : --




T AT WYURT A # FE X W Te AT ae i ®or & w9 & oar 1 &7 aut & a1, Hmor
& gty AR AR TS & 2% FA & F §1 5 I F g, Iy T owwly | ez @ g s

%13,600%,=ﬁmqg-eﬁama:m$w%m11§ T FRCRTF T T T TS N, ar
Q.20 B 7T a3mfeE FHor H TR @ AT

X 1 312,500
v 2 310,000

X 3 312,000
X 4 313,600

Ans

Question ID : 424429565
Status : Not Answered
Chosen Option : --

? 5V3+7VZ-V6-

Ans xl' 0
v 212
X310
X+ 16

ﬁﬂ‘/_armmﬁﬁm

Question ID : 424429572
Status : Not Answered
Chosen Option : --

few v o &, soefaa st & S v d% & o @t B1, B2, B3, B4, B5 3 B6 garT Huit
9 A= F TIE € FE H) & e 2w e )

0 20 40 60 80 100
© 2018 #2017 » 2016

Q22 & T SEE F HUR R, I 2016 F 2017 7, Fw amar gERT e A Horw A R 3TEH 2
X B4,
X B3,
v B6,
X B,

Ans

Question ID : 424429578
Status : Not Answered
Chosen Option : --




1.2m x 0.75m & 3MATTRR 95T T T 15 km/h 7 2T & 180m x140m F TF &F & wargd gar gl
Q.23 & TFF F T 4m F S 7F o w@M?

Vi 7 gT 28 e
X 25 ge 46 B=e
X3 6 Oe 42 A=
X4 g ue 12 Aee

Ans

Question ID : 424429559
Status : Not Answered
Chosen Option : --

39 9fa 9¥g % 599, T12 9fa 379G # & ¥ 9= 7% Fo TG F Fww qed F €7 3w T150
Q24uﬁgﬂa@sﬁmmq\wizso%,a’ruﬁaﬁamzo%%,wm TG w1 TomT TEw T H

v 3126,

Ans
X 125,
X %136,
< 130,
Question ID : 424429563
Status : Not Answered
Chosen Option : --
Q.25 ) 5
4 (11 13 3 4 5 4
S5—+|——| |+|7—0f8—=1——= EA LY
9(4 6] [ufs 73]““3'3 !
Ans
XL i
71
1
o 2.
61
1
™ 3.
91
1
v
81

Question ID : 424429574
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1 = FEAl & TG e WigH! ol U e $R woe & g, Frafefea & € feaa
Iua e wiar 87

Ans  of 1 w2y
X 2. MICR (gw.3é & arR) fearsw
X 3.@med
X 4wt fewn

Question ID : 424429582
Status : Answered
Chosen Option : 2

Q.2 &reter #RA & forg widrg RrsR et e 82
Ans o 1 afimae

X 2. amm

X 3. TeraE

X 4. ToR

Question ID : 424429585
Status : Answered
Chosen Option : 3

Q.3 =@ & w-ar st fiz dore ada sjiaen @ g a9 iR g @t s arf @ wisarg?
Ans o 1 Jgai e

< 2. e &=

X 3. afgre ek

X 4w &=t

Question ID : 424429596
Status : Answered
Chosen Option : 1

Q.4 =mTRes! @ Rar s arer gefes YR 9114 'V o, U arell gl A-9RA1g shis 91?
Ans X 1. e HEa
X 2. frarge e

o 3. sge TR @
X 4. i ster &t

Question ID : 424429600
Status : Answered
Chosen Option: 3




Q.5 F=fefaa d @ v 9 3 adf 2018-19 A datw grdhr shii?
Ans X1 %@

f 2 affdw
X 3. faeim

7 4. dete

Question ID : 424429605
Status : Answered
Chosen Option : 2

Q.6 fFrafafaa d @ et af 2019 F IcC =1 'fAfRke sifx fRde srard' sfiar?
Ans  of 1 R wteeh

X 2. R

X 3. o g =R

X 4. i Rig et

Question ID : 424429601
Status : Answered
Chosen Option : 1

Q.7 =gei+ i @i =1 Fa Fr=fafEa § @ et Rarsmar 82
Ans O 1 gvemg

o 2. 3 Hehs

< 3.9 ufmEa

X 4. 9w dge

Question ID : 424429591
Status : Answered
Chosen Option : 2

Q.8 15 St 2020 ek Wt S-ehRT & SFER, ATP ¥ # Fa% U Y6 U aren e 2= a
et T ur?

Ans X 1 doR hew
X 2. e st
X 3. e Aeda
W 4. at e

Question ID : 424429606
Status : Answered
Chosen Option : 4




QOTT T TAH A FH I A VA AT T - CIATH T © ST’ F T ' 3 1 2020' [ FR AT

Ans \flmaam
xz.mnntrwr
xa.mr»ra?)fl%r

x4.a??rt}7:=;'c';r

Question ID : 424429588
Status : Not Answered
Chosen Option : --

Q.10 R F T T T ORI T TTHT F Felel TS T F Halled I HIAT ST GFHaT 82
Ans xl. 148

2,168

3.1049cT

L X X

4.128cT

Question ID : 424429602
Status : Answered

Chosen Option : 1

Q.11 T AT T FAAE A Fauw 25 garuer) sarer 01976 .m g@er &S T
o’

X 1o
B
X3ga

X 4 g

Question ID : 424429603
Status : Answered
Chosen Option : 2

Ans

Q.12 HRA H U R T HT HFATA IR FXA FT 3T T T 7 T of Tl 7 { FHBTE? Ans
X 1.3 (NITI) 3T

X 2.9 3T
X 3. IRDA (3TT$.3TRET.T)

"4.$ JET Tk GITseT

Question ID : 424429590
Status : Marked For Review
Chosen Option : 4




Ans

Q.13 7 T TA 7 A FIA-TT T AT AeATeA! ‘FIRN YT T HIS’ 7 AT A 16 AT?

JI.STJIFTH%'

xz. 3723 T &Y
xs.xmm‘aramr

x4.€’r?h§r\f3ﬂ—qﬂa'

Ans

Q14 T T T T A F HleT-H) ST91E TheTh ) FelS F TT T E?

v s
xz,rrag'(
X5 ex
X4.11'"tﬁ

Question ID : 424429599
Status : Answered

Chosen Option : 4

Ans
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